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1.

if the following numbers are re-
written by interchanging the dig-
its In ten's place and hundred's
place and thervarranging them in
the descending order, what will
be the second digil of the newly
formed fifth number from your

right ?

479, 736, 895, 978, 389, 675
(1) 3 (2) 4

(3} 5 (4) 6

. Pis 60 m Soulh-East of Q. R Is

60 m North-East of Q. Then, Ris
in which directlon of P ?

(1) North (2) North-Easl
(3) South (4) South-East
Directions (3 - 8) : Read the fol-

lowing information for answering the
questions that follow :

On a playing ground A, B. C, D

and E are standing as described be-
low facing the North.

6.

(il B is 50 metres Lo the right of
D

{th A is 60 meires Lo the Soulh
of B.

(il C is 40 metres to the West to
D. |

{ivi E Is 80 metres to the North
of A.

If a bay walks from C, meets D

followed by B, A and then E, how

many melres has he walked if he

has travelled the stralght distance

all through ?

(1) 120 (2) 150

(2) 170 (4) 230

What is the minimum distance (in

metre approximaltely) between C

and E?

(1) 53 (2) 78

(3) 92 (4 120

Who is to the South-East of the
person who is to the left of D ?
(1) A (2] B

(3) C (4 E

A man was walking in the evening
just belore the sun set. His wife
sald that, his shadow [lell on his
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right. If the wife was walking In

the opposite direction of the man, |

then which direction the wife was

facing ?
(1) North [2) West
(3) South (4) East

Directions (7 = 11) : In each of

the following quesiions choose the set
of numbers from the four alternative
sets that is similar to the glven set.

7.

10.

1L

Given set : (4, 9, 18)
(1) (8, 14, 22)

(2) (10, 15, 25)

(3) (6, 12, 23)

{4} (12. 17, 28)

Given sel : (10, 14, 17)
(1) (4, 11, 14)

(2) (9, 12, 15}

{3} (8. 13, 18)

{4) (6.9, 12)

Glven set : {7, 27, 55)
(1) (21, 35, 52)

-[2) (18, 42, 65)
13) (16, 40, 72)

(4) (13, 30, 58}

Given set : (39, 28, 19)
(1) (84, 67, 52)

(2) (52, 25, 17)

(3) (70, 49, 36)

[4) [65. 45, 21)

Given set : (246, 257, 358)
(1) (233, 343, 345)

{2} (273. 365, 367)

(3) (143, 2286_237)

(4) (145, 235, 325)

Directions (12 - 18) : Each ques-

tlon contains six or seven statements
follnwed by four sets of combinations
of three. Choose the set in which the
statements are logically related.

12,

{A) All books are having pages.

(B) All kings are having pages.

(C) All kings are books.

(D) Some heavy Lhings are hav-
Ing pages.

(E} Some heavy things are baoks,

(F) Some books are heavy.

13.

14.

13.

16.

(G) Some heavy things are hav-
ing pages.

(1) ABC (2) FAD

{3} DFA (4) AEG

(A) No athleies are vegetarians.

(B8] All cricket players are athletes.

(C) Some athletes play crickel.

(D) Some cricket players are veg-
¢tarians.

(E) No cricket player is a vegetar-
lan.

(M All athletes are vegetarians.

(1) ABE (2) CDA

(3) CEB (4) BEF

{A) All grand-mothers cook well.

{B) No man is a grand-mother.

{C) Some men do not cook well.

(D) All those who cook well are
men.

{E) No one who cooks well is a
man.

{F) All those who cook well are
grand-mothers.

(G) Some men are not grand-
mothers.

{1} BFE {2) BEG

(3) ADB (4) FDG

{A) Looting Is a crime.

{B) Some crooked people are
criminals.

{C) All those involved In looting are
criminals,

(D) Some crooked people are in-
volved in looting.

{E) All criminals are looked down
in soclety.

(F) Some crocked people are not
criminals.

(1) ADF (2) CFB

(3] ABF (4) CDB

(A} Some women are those who
are successiul In life.

(B) Some men are those who have
patience.

(C) No man is a woman.

(D) All those who have patience
arg successful in life.
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(E) Some Wwho are successful in

life are men.

(F] Some men are not those are
successil in life.

{1) ACF (2). DBF
(3} AEC (4) BDE

Directions (17 — 21) : Each of
the questions helow consists of a ques-
lion and two statements numbered (1)
and (II). You have Lo decide whether
the data provided in the statements are
sulficient to answer the question,

Give answer !

(1) iIthe data in statement (I} alone
are sufficient to answer the question,
while the dala in siatement (II] alone

are not sufficient to answer the ques-
ticn.

(2) if the data in statement (II)
alone are suffictent to answer the ques-
lion, while the data in statement (I)
alone are not sufficient 1o answer the
question,;

(3] if the datla even in both state-
ments (I) and (II) together are not suf-
liclenl Lo answer the question;

(4) if the data in both statements
() and (1) together are necessary to
answer the question.
17. In which direction is Mahatmaji's
statue [acing?
I. The statue is towards the
northern end of the city.

II. The statue's shadow falls to-
wards East at 5 O'clock in the
everning,

18. *What is the Lotal number of pu-
pits in the final year class ?

[. The number of boys in the fi-
nal year class is twice as much
as the number of girls in that
class.

I1. The sum of the ages of all the
pupils in the class is 399
years and their average age
is 19 vears. |

19. Whois the tallest among A, B, C

and D 7

I. Aistaller than C.

. B is taller than C and D.

20. Hnw many Sundays arg there in
a particular mnnth pf a particu—
lar year 7
[. Themonth hegins ’Dﬂ ‘Mﬂnday

1. The mﬂpths ends o Wednea-
day.

21. What 1s the tu E.l":p mher of
pages In this boo y

1. Icounted 132 pages from the
heginning of {hls beok.

1. My wife counled remaining
138 pages starting [rom the
end of the same book.

Directions (22 - 28) : In each of
the quﬂstlnns given below, there is a
statement followed by three assump-
tions mimbered I, II and III. An as-
sumption is something supposed or
taken for granted. You have (0 consider
the statement and assumplions and
then decide, which of the assumption
(s) is/are implicil in the staiement.

22. Statement ! During pre-harvest
kharll seasons, the government
has decided to release vast quan-
tity of foodgrains from FCI.

- Assumptions : |
1. There may he a shorlage of
foodgrains in the market dur-
ing this season.
[I. The kharif crop may he able
to replenish the stock ol FCIL.
§It, Therc may be a demand from
"the farmers Lo procure kharif
crop immediately alter har-
vest,
(1) None is implicit
(2) Only I and IT are implicit
(3) Only II and I11 are implicit
(4] All are implielt

23. Statement : Toimprove the em-
Playment sltuation In [ndia, thore
is a need to recast the present
educational system towards
implementation of scientific dis-
coveries in daily life.
Assumptions :

[. The students after complet-
ing such educatlion may be
able to earn their livelihood.

I1. ‘Fhis may bring meaning of
education in the minds of the
youlh.

III. The state may carn more rev-
enue as more and more
people will engage themselves
in sell-employment.

[1) Only I and I1 are implicit

(2) Only I is implicit

(3) Only I and III are implicit

(4) None is implicit

24, Statement : To Increase prolfil,
the oil exporting counirles de-
cided to reduce the production
of crude by 5 millicn barrels per
day.

@ .
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Aspumptions :

I, The price of crude may in-
crense iue lo less procluction.

[I. Tho demand of crude may
rernain same in future.

1i1. Other countries may continue
buying crude from these
countries,

{1} All awre implicit

(2} Only II and IIT are implicitl

(3) Only 1 an IT are implicit

(4] None'is implicil

25. Statement : "We do nol wanl you

io see pur producl on newspa-

por, visil our shop to pet a ull

vicw” — an advertisement.

Assumptions :

I. People generally decide 1o
purchase any product after

secking the name in the ad-
verlisement.

II. Uncommon appeal may at-
tract the customers.

1[1. People may come {o see Lhe
product.

(1) All are implicit
(2] None is implicit
{3} Only 11 and [ are implicil
(4} Only 1 and i are implicil
26. Statement : The Reserve Bank
ol India has directed the banks
to refluse fresh loans Lo major
defauliers.
Agsumptions:
I. The banks may still give loans
1o the defaullers.
II. The delauliers may repay Lhe
earlier loan to get fresh loan.

1I1. The banks may recover the
had loans through such harsh
MEeASUres.

(1] All are implicit

(2} None is implicit

(3) Bath II and 11! are implicit

(4) Both I and H are implicit

Directions (27-31) : In queslions

given below, statements 1 and 2 are
followed by conclusions I and . Tak-
ing the statements Lo be right although
they may seem al variance with com-
monly accepted facts, mark your an-
swers as under :

{1} If only conclusion I follows.
12) I only conclusion 11 follows,
[(3) If both 1 and 11 [ollows,
(4) Neither I nor II [ollows
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27. Statements |

28.

31.

4TTa

1. All hands are machines.
2. All machines are wheels.
Conclusions :

I. All wheels are hands.

fl. All hands are wheels,
Statements :

1. Some buds are leaves.
2. Some leaves are red.
Conclusions :

[. Some buds are red.

I1. Some leaves are not buds.
Statements :

1. Some stones are shelis.
2. All shells are pearls.
Conclusions :

[. Some stones are pearls.
I1. All pearls are shells.
Statements :

1. Brown is red and blue is
green.

2. Green js pink and yellow |s
red.

Conclusions :

1. Yellow is brown.
[I. Pink Is blue.
Statements :

1, Merchants who do not own
cars do not have bicycles ei-
ther.

2. Those who do not have bi-
cycles have tricycles.

Concilusions :

[. Some merchants have only
tricycles.

11. No one has boeth, the car and
the tricycles.

Directions {32 - 38) : A number
ngement machine, when given a

particular input, rearranges it follow-
ing a particular rule. The following is
the illustration of the input and the

stages of arrangement :

Input 245, 316, 436, 519, 868,
710, 689

Stepl : 710, 316, 436, 519, 868,
245, 689

StepIl : 710, 316, 245, 519, 868,
436, 689

Step Ill : 710, 316, 245, 436, 868,
519, 689

Step IV : 710, 316, 245, 436, 519,
868, 689

Step IV is the last step of input.

—(_PRATIYOGITA KIRAN )

32.

If 655, 436,764, 799, 977, 572,
333 1s the input which of the fol-
lowing steps will be "333, 436,
572, 855, 977, 764, 799" ?

(1) 11 (2) M

{3) IV (4) 1

How many steps will be required

to get the final outpul from the
following input ?

Input : 544, 653,

461, 231, 857

(1) 5 (2) 4

(3) 3 {4} 6

For the given input, which of the

following will be third step ?

Input : 236, 522, 824, 765,

622, 463, 358

(1) 522. 236, 765, 824, 622,
463, 3568

2) 522, 622, 236, 824, 765,
463, 358

(3) 522, 622 236, 765, 824,
463, 358

[4) 522, 622, 236, 463, B24,
765, 358

325. 688,

. If following is the second step for

an input, whai will be the fourth
step ?

Step 11 : 620,
787, 634, 977

(1) 620, 415, 344, 537, 634,
787, 977

{21 620, 415, 344,
787, 977

[3) 620, 415, 344, 634, 787,
537, 977

(4] Cannot be determined

Which of the following is the last
step for the following Input ?

Input : 473, 442, 735, 542,
367, 234, 549

(1) 234, 442, 542, 473, 735,
367, 549

{2) 234, 442, 542, 735, 473,
367, 549

(3] 234, 442, 542, 473, 367,
735, 549

(4) 234, 442, 542, 735, 367,
473, 549

Directions (37 — 41) : Read the

415, 344, 5337.

634, 537,

following information carefully and an-
swer the questions given below 11 :

{1} There is a group of six persons

A, B.C, D, E and F in a family. They
are Psychologist, Manager, Lawyer,
Jeweller, Doclor and Engineer.

(2] The doctor is the grandfather

of F, who Is a Psychologist.

JULY 2010

(3) The Manager D s married to A.
(4] C, 1the Jeweller, {s married Lo

the Lawver.

[3) B is the mother of F and E.
{6} There are two marnEd couples

in the familly.

(7) The Psychologist is a female

while Engineer is a male.

37.

41.

42,

43.

| [3] I{QDX

45.

What is the profession of E ?
(1) Doctor

(2] Englneer

(3) Manager

(4} Psychologist

How is A related to E?

(1) Brother

(2) Uncle

(3} Father

(4] Grandfather

How many male members are
there in the family ?

(1] One (2] Three

(3) Four (4) Two
What Is the profession of A?
{1} Doctor (2) Lawyer
(3) Jeweller  (4) Manager

Which of the following is one of
the pairs of couples in Lhe fam-
ily ?

(1) AB (2) AC

{3} AD [4) AE

Three of the following four are
alike in a certain way and so form
a group. Which is the one that
does not belong to that group 7

{1) Papaya {2} Mango

(3] Jackfrult (4) Walermelon
Three of the following four are
sirnilar In relation to their posi-
tion in the England alphabet and
hence form a group. Which one
tdoes not belong to that group ?
(1) SPEAK : PZVKH

[2) HUSKY : BPGFS

{3} BRAIN : MRZIY

(4] BREAK : PZVIY

Three of the following four groups
ol letters are alike in some way
while one is different. Find out
which one is diflerent ?

‘__[1] DJWH (2) EKXR

(4) AGTN

Four groups of lgiters are given

bg].ow Three of them are alike in
a certain wayg;jfr}l]ﬂe one is differ-

ent. Choose the cdd one.

Ty dﬁ:&uﬁv [2) LZKMSU.

(3) EFXPMG {4) JOEHNP

@_’
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48. Four pairs of words are given

47.

Eli

below outl of which the words In
all pairs except one, bear a cer-
tain common relationship. Choose
the palr in which Lhe words are
differently related.

(1) Watt : Power

(2] Ampere : Current

(3) Pascal : Pressure

(4) Radian : Degree

Number of letters skipped in be-
tween adjacent letters of the se-
ries starting from behind are in-
creased by one, Which of the fol-
lowing series observes this rule 7
(1) ONLKJ (2) OMKIG

(3] OMJFA {4) OIGDC

If Lhe letters of the word "PRO-
TECTION" which are at odd num-
beret position in the English al-
phabet are picked up and are
arranged in alphabetical order
from left and if they are now sub-
stituted by Z. Y. X and so on,
beginning from left which Jetter
wili get substituted by X ?

(1 E 2) O
37T (4) 1
How many pairs of letters are
there in the word OPERATION In

which the dilfcrence between
them is the same as in the En-

glish alphabet ?
(1) 3 (2) 5
{3) 7 (4) ©

Arrange the given words in which
they occur In the dictionary and
then choose the correct sequence.

1. Dissipate 2. Dissuade
3: Disseminate 4. Distract

5. Dissociate 6. Dissecl

(116,3,1,5.2
(2) 1, 6, 3, 2. 4,
(3) 3, 6, 1, 2, 5,
(4) 4, 6,3, 1,5, 2

The letters skipped in between
the adjacent letters in-the series
are followed by equal space,
Which of the following series ab-
serves this rule ?

(1} SUXADF  (2) RVZDF‘G

(3) HKNGSW  (4) sznHL
Directions B2 - 56) 3, [}1 Q cer-

]

4
5
1

tain code, letterskqf i:ingush glphabet
are coded as gi',ren for some words.
The numeric code for each Iettera Is
given in bracket under codéti forim and
corresponds to the letters in the word

in the same serial order, study the
coded forms of the given words and
find out the rules for their classifica-
tion. Applying those rules find out the
code for the words given in capital let-
ters in Lthe questions that foliow :

53.

S55.

87.

Word Coded Form

ATE @ B (0
NONE (5 (28] (3 (295
UNIT (30} (5 (30} (5
PIN B (10 (D)
PAGE (5 (25) (B) (25)
OPEN (30) (B (30 (5
ONE @ (B (0

cur {5} (10} (3
SEAT (3] (15 (15 (5)
DEEP (3] (200 (200 (5)
VINA

(1) (5) (0] (5) (15)

(2) (5) (25) (5) (25)

(3) (5) {30] (5) (30)

(4) (5) (10) [5) (30)

AGE

(1) (O (15} {0} (2} (15](13) (13)
(3} (0) (10} (10) (4) (0) (B) ()
PEAR

(1) (5) (15} [15) (5}

(2) (5) (25) (5) (25)

(3) (5) (10} {5) (10)

(4) (B) (30 (5) {30)

TIN

(1) (0) (5) (O)
{3} (0} {10) (O]
UNIT

(1} (5) (30) {5) (30)

(2) (5) {10) {30) {10)

(3) (30) (5) (30) (5)

(4) (15) (10) (10) (15)

If the first and sccond digits in
the sequence 7984536783
4 5 are interchanged, also Lhe
third and fourth digits, the fifth

and sixth digits and so on which
digit would be the sixth counting

(2) (5] (0) (5)
(4) (5] (10) (5)

from your right ?
(1) 5 (2) 6
(3 7 (4) 8

58. The letlers I, J. K, L, M. N, O, P,

Q. R. S. Tin their order are sub-
stituled by twelve numbers but
not in that order. 3 s assigned to
R. The ditference between R and
M Is 7. The difference between
K and M Is 2. What number is

assigned to K ?
(1) 8 (2) 12
(3 7 (4) 11

59. Below are given six three-char-
acter numbers., The characters
comprise of digits and letters. The
lctter stands for une less than its
serial order in the English alpha-
het. What will be the niiddie char
acter of the 3rd number when the
numbers are arranged in the de-
scending order ?

BG6, 3DJ, F4C. 7HB. 4E6G. BSI
(17 2) 8

(3) 6 (4 4

Which of the following will be the
third digit ol the fourth number
aller the following numbers are
arranged in descending order al-
ter reversing the position of the
digits within each number ?
G645, 869. 458, 347, 981, 792
(1) 4 (2) 6

(31 8 (4) 9

GENERAL AWARENESS \

61. Which of Lhe lollowing stars lies
nearest to our solar system ?
(1) Barnard's Star
12) Strius A
(3] Alpha Centauri A
{4) Proxima Centauri
. Of the total water on the earth.
[resh water reserves constilule
approximately
(1) 5.8% (2] 4.5%
(3)2.7% (4) 1.2%
63. The term ‘Bishop' in sports is re-
lated Lo
(1) Chess (2) Hockey
(3) Bacdminton (4) Bridge
. Yakshagan is the Jamous dance
form of the State of
(1) Orissa
(2) Andhra Pradesh
(3) Tamil Nadu
{4) Karnataka
Balance of Paymentis means
(1) dilference between export and
imports
(2} halance is 10 be paid to the
cxporters
{3) balance io be paid to the in-
dustrialisis
(4) halance coming in allocation of
funds for States.
86. A light year is equivalent to aboul
(1) 365 days
(2) six million miles
(3) six billion miles
[4) six trillion miles
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87. Denmark, Iceland, Norway, Swe-

den and Finland are together
called

(1) Slovakia
(2} Scandinavia
(3] Netherland
(4) Auslralia
. The device used for locating sub-
merged objects under sea is
(1) sonar (2) radar
(3] laser (4} maser
Which article of the Constitution

provides the Parliament the
power of ammend Constitution ?

(1) 376 (2) 370
(3] 368 {4) 390
. What is the name of Lthe first suc-
cesslully cloned deer ?
(1) Dawn (2) Deluxe
(3) Demor (4) Dewey
The idea of motion pictures was
propounded by
(1) N.R. Finsen
(2] T.A. Edison
(3)J.1.. Baird
{4) Berliner
. In Greek mythology, Apollo Is the
god of which of the following ?

?ll‘

(1) Love {2) Peace
(3) Prophecy (4] Medlcine
73. NASA's new space telescope is
(1) Wise (2) Rise
(3) Barack (4) Telle
74. Er;u Il fighting is the national game
0
{1} Italy (2) Poland
(3) Spain (4] Sudan
78. Inarare recognition, the Gavern-

ment of Mauritius decides to in-
troduce a book writien by
Uttarakhand Chief Minister
Ramesh Pokhriyal Nishank in the
School Syltabus of the island na-

tion, what is the name of the
book ?

(1) Sound of Hills

{2) Sparsh Ganga

(3) Heaven

(4) Amrit

Who has been selected for the

‘Niwano Peace Prize, 2010 for her
contribution to the uplift of poor
women in India ?

{1) Ela Bhatt

{2) Jhumpa Lahiri
[3) Punam Suuri

(4) Mandakni Apte

—~(PRATIYOGITA KIRAN )

76.

77. On which of the following dates

in 2010 India and the United
Kingdom signed a joint declara-
tion for Civil Nuc¢lear Coopera-
tion ?

(1) February 28

(2) February 21

(3] February 11

(4) February 4

The tax which the kings used (o
collect from the people in the
Vedic period was called

(1] Bali (2) Vidatha
(3) Varman (4) Kara

. The cells which are responsible
for the production of antibodies
are :

(1) red blood cells
(2) neutrophils

(3} lymphocytes
(4) platelets

Correct expansion of the term
‘http’ in Internet address is

(1) hybrid text transfer protocol
{2] hyper tex1 transfer protocol

(3) higher transfer text protocol
(4) higher text transfer protocol

ENGLISH LANGUAGE

78.

Directions (81-88) : In the [ol-
lowing questions, fill in the blanks with
the appropriate phrase.

81. The shop boy forgot to the
counter alter the guests lef.

{1) wipe off (2) wipe away
(3) wipe at {4) wipe for

82. The meeting was because
the chairman was absent.

(1) called at (2] called upon
(3] called for [4) called off
83. He has a lot of money for
his old age.
(1) put off (2) put aside
(3) put across (4] put through
84, this word in the dictionary,
(1) Lookup {2) Lookon
(3) Lookat (4] Look down
85. He was not called for the inter-

view as his application had been

{1} tumed out
(2) turned down
(3) turned away
(4] turned off

JULY 2010
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Directions (86-80) : In the fol-
lowing qquestions choose the alternative
which is opposite in meaning to the

given word.
86. INVALID
(1} healthy (2) strong
(3) sound {4) deteriorating
87. MAGNANIMITY
(1] disability (2} hypocrisy

(3) meanness (4] miserliness
88, SUPERFICIAL
(1) shallow
{3) deep
MAR
(1) transparent
(2] covered
f[fi] clear
{4} make
80. MATERIAL
{1} moral (2) Ideal
{3) spiritual  (4) psychological
Directions (81-100) : In the fol-
lowing passage, some of the words have
been left out. Read the passage care-
fully and try to understand what it is
about. Then {ill in the blanks with the
alternatives given below the passage.
Barcelona is not one of the most
beautiful cities In the world : it is a
busy, noisy, money-making city. All the
same, on a warm spring moming _{91)
are some fine places to spend a _{921
hour or two, The Rambles, a tree-lined
avenue as broad _[83)_as beautiful as
any Paris boulevard, is magical _{94]
that time of the day. presenting a
colourful symphony __ (98] flowers,
sunlight and people. Andrews was _(B6]
an international conference in
Barcelona. _{871 was the first time
he had _[98) _to the city. Like most
peaple he had _{88] as lot about the
Rambles and was _{100Q] to go there.

(2) iiai
(4} artificial

91, (1) there (2] their
(3) those {(4) where
82. {1]) busy (2) first
(3} quiet {4) one
83. (1} but (2) and
{3) or (4) s0
24. (1) to {2) for
(3] on (4) at
88, (1)to (2) of
(3} with (4) among
86, (1) attending (2} visliting
(3) reading {4) participating
7. (1) That (2) When
{3) 1t . (4} Which
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98. (1) visited {2} been
(3) come (4) gone
99. (1)listened  (2) seen
(3} looked (4) heard
100. (1) eager (2) wishing
(3) prepared (4] busy

Directions (101 - 108) : Read the
following passage and answer the ques-
tions glven aiter it :

In terri.crial animals it may be said
that aggres- ion that originally served
the fune! -~ f ensuring that the ani-
mal could - .apete with its nelghbour
in the struggle for food has now come
to serve the function of putting a dis-
tance between itseli and its neighbour.

There can be no doubt that man Is also |

a territorial animal. Even in circum-
stances so far removed from the primi-
tive as contemporary Western civiliza-
tion, the countryside is demarcated by
fences and hedges many of which
carry notices stating that ‘trespassing
will be prosecuted’ and the ‘entry of
our houses by unauthorised persons
is resented as much as the loss of any
property with which they may abscond',
On a natlonal scale, the Invasion
of the homeland by an enemy evokes a
more passionately aggressive response
than does a battle with the same foe
on territory which belongs to neither.

Like other animals man also re-
acts badlv to overcrowding. Those of
us who live in towns have leamt to
accommodate ourselves to some degree
to the kind of congestion which seems
ta be an inevitable sequel of urbaniza-
tion; but the closer we are packed the
maore easlly resentful of each other do
we tend to become. It is probably on
this account. that many people find life
in cllies irrilating and exhausting since
they are compelled to control aggres-
sive impulses which arise solely as a
result of overcrowding. It is also prob-
able that it is because of the wider
spacing between Individuals which is

- usual in the countryside that rural
folks arc less tense, more neighbourly
and olten better mannered than thelr
urban counterparis.

101. According to the passage, the
most obvious distinguishing mark
ol a territorial animal is

102. 'an inevilable sequel to urbaniza« |

tion' here means

(1) a final development of the
overcrowding in cities

{2) an unavoidable result of the
development of cities

(3) a necessary conclusion of the
overcrowding in cities

(4) a logical by-product of town-

planning
103. The writer suggests that city life

is exhausting because it frequently

forces people to

(1) behave badly towards other
people

(2} ward off would be trespass-
ers

(3) keep aggressive urges in
check

(4) compete more strongly for a
living
104. According to the passage, the

chief reason for regarding a man
as an animal Is that he

(1) cannot control his aggressive
behaviour

{2) behaves In a savage fashlon
towards others

(3) has failed to develop as a civi-
lized being
(4) shares certain forms of animal
behaviour
108. The main purpose of the passage
isto
{1} show modern man differs
from the primitive man

(2) explain some of the behaviour
of city dwellers

(3) show that town life is inferlor
to city life
(4] shares certain forms of ani-
mal behaviour -
Directions (106 - 110) : in each
of the following sentences four words
or phrases have been given in bold.

One bold part in each sentence is not

acceptable in standard English. Pick

up that part.

106. We were already (1}/ to leave for
{2}/ the amusement park when
our car broke down (3)/ and we
were forced to postpone our (4)/

ri for food —
{”Z‘ “""gor‘“ 107. Bach (1)/ one of the dogs in the
(2) disttke of war show require {2)/ not only a spe-
(3) interest In fightihg cial diet (3)/ but (4)/ a special
(4) resentment against intruders treatment.
oo S L
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108. There (1)/ was so much (2)/
conversation ln back of me (3)/
that I could hardly (4)/ hear he
lecture,

Despite of (1)/ the pills which
(2)/ are avallable, many people
still (3)/ have irouble sleep-
ing {4).

They {1}/ are both (2)/ excel-
lent books but {3}/ this one is
best (4).

Directions (111 - 118} : Fill in
the blanks with appropriate words.

109.

110.

111. Hels a speclalist ......... skin dis-
€ases,
{1} into (2) to
(3) against {4} in

112, When she heard an explosion i
the street, she ......... to see thi
cause.
{1) turn (2} turns
(3) turned (4] had turned

113, Although Dr. Singh had several
assistants during his long Inves-
tigation of Tumni Islands, the
bulk of research was done hv

...... alone,
(1) himself (2] he
(3} his (4) him

114, The ship with all its crew ......
lost after the terrible storm.
(1} were (2) has
(3) have (4) was

118. 1 believe that he will fail in the
examlination i he ......... at this
speed. '
(1) works (2) is working
(3) will work (4] was working

Directions {116 ~ 120) : In the
following questions choose the alter
native whicin best expresses the
meaning of the given word.

116. ABSOLVE
(1) absorb (2) agree
(3] acquit (4) abort
117. BEHEST
(1) command (2) see
(3) attach (4) harm
118. ADHERE
(1) accept (2) disguise
(3) fight (4) stick
- 119, FRAGMENT
(1) smell {2) portion
(3) irmage (4) iImpression

120. ENDORSEMENT
(1) imposition (2} endurance

(3) award (4) approval
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98. (1) visited {2} been
(3) come (4) gone
99. (1)listened  (2) seen
(3} looked (4) heard
100. (1) eager (2) wishing
(3) prepared (4] busy

Directions (101 - 108) : Read the
following passage and answer the ques-
tions glven aiter it :

In terri.crial animals it may be said
that aggres- ion that originally served
the fune! -~ f ensuring that the ani-
mal could - .apete with its nelghbour
in the struggle for food has now come
to serve the function of putting a dis-
tance between itseli and its neighbour.

There can be no doubt that man Is also |

a territorial animal. Even in circum-
stances so far removed from the primi-
tive as contemporary Western civiliza-
tion, the countryside is demarcated by
fences and hedges many of which
carry notices stating that ‘trespassing
will be prosecuted’ and the ‘entry of
our houses by unauthorised persons
is resented as much as the loss of any
property with which they may abscond',
On a natlonal scale, the Invasion
of the homeland by an enemy evokes a
more passionately aggressive response
than does a battle with the same foe
on territory which belongs to neither.

Like other animals man also re-
acts badlv to overcrowding. Those of
us who live in towns have leamt to
accommodate ourselves to some degree
to the kind of congestion which seems
ta be an inevitable sequel of urbaniza-
tion; but the closer we are packed the
maore easlly resentful of each other do
we tend to become. It is probably on
this account. that many people find life
in cllies irrilating and exhausting since
they are compelled to control aggres-
sive impulses which arise solely as a
result of overcrowding. It is also prob-
able that it is because of the wider
spacing between Individuals which is

- usual in the countryside that rural
folks arc less tense, more neighbourly
and olten better mannered than thelr
urban counterparis.

101. According to the passage, the
most obvious distinguishing mark
ol a territorial animal is

102. 'an inevilable sequel to urbaniza« |

tion' here means

(1) a final development of the
overcrowding in cities

{2) an unavoidable result of the
development of cities

(3) a necessary conclusion of the
overcrowding in cities

(4) a logical by-product of town-

planning
103. The writer suggests that city life

is exhausting because it frequently

forces people to

(1) behave badly towards other
people

(2} ward off would be trespass-
ers

(3) keep aggressive urges in
check

(4) compete more strongly for a
living
104. According to the passage, the

chief reason for regarding a man
as an animal Is that he

(1) cannot control his aggressive
behaviour

{2) behaves In a savage fashlon
towards others

(3) has failed to develop as a civi-
lized being
(4) shares certain forms of animal
behaviour
108. The main purpose of the passage
isto
{1} show modern man differs
from the primitive man

(2) explain some of the behaviour
of city dwellers

(3) show that town life is inferlor
to city life
(4] shares certain forms of ani-
mal behaviour -
Directions (106 - 110) : in each
of the following sentences four words
or phrases have been given in bold.

One bold part in each sentence is not

acceptable in standard English. Pick

up that part.

106. We were already (1}/ to leave for
{2}/ the amusement park when
our car broke down (3)/ and we
were forced to postpone our (4)/

ri for food —
{”Z‘ “""gor‘“ 107. Bach (1)/ one of the dogs in the
(2) disttke of war show require {2)/ not only a spe-
(3) interest In fightihg cial diet (3)/ but (4)/ a special
(4) resentment against intruders treatment.
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108. There (1)/ was so much (2)/
conversation ln back of me (3)/
that I could hardly (4)/ hear he
lecture,

Despite of (1)/ the pills which
(2)/ are avallable, many people
still (3)/ have irouble sleep-
ing {4).

They {1}/ are both (2)/ excel-
lent books but {3}/ this one is
best (4).

Directions (111 - 118} : Fill in
the blanks with appropriate words.

109.

110.

111. Hels a speclalist ......... skin dis-
€ases,
{1} into (2) to
(3) against {4} in

112, When she heard an explosion i
the street, she ......... to see thi
cause.
{1) turn (2} turns
(3) turned (4] had turned

113, Although Dr. Singh had several
assistants during his long Inves-
tigation of Tumni Islands, the
bulk of research was done hv

...... alone,
(1) himself (2] he
(3} his (4) him

114, The ship with all its crew ......
lost after the terrible storm.
(1} were (2) has
(3) have (4) was

118. 1 believe that he will fail in the
examlination i he ......... at this
speed. '
(1) works (2) is working
(3) will work (4] was working

Directions {116 ~ 120) : In the
following questions choose the alter
native whicin best expresses the
meaning of the given word.

116. ABSOLVE
(1) absorb (2) agree
(3] acquit (4) abort
117. BEHEST
(1) command (2) see
(3) attach (4) harm
118. ADHERE
(1) accept (2) disguise
(3) fight (4) stick
- 119, FRAGMENT
(1) smell {2) portion
(3) irmage (4) iImpression

120. ENDORSEMENT
(1) imposition (2} endurance

(3) award (4) approval
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138.

lml

141.

142.

143.

144, Which of the following [ractions

The number 25%¢ x 642° ig the
square of a natural number n.

The sum of digits of 17 is

(1} 7 (2) 14

(3) 21 (4) 28

The unit's digit of 13293 is
(1) 1 2}13

(3) 7 (4)©

Let x be the product of two num-
bers 3, 659, 893, 456, 789,
325, 678 and 342, 973, 489,
379, 256. The number of digits
inx is

(1) 32 (2) 34

(3) 35 (4) 36

The number {298 - 1) is exactly
divisible by (wo numbers be-
tween 60 and 70. The numbers
are :

(1) 63 and 65 (2) 63 and 67

(3) 61 and 65 (4) 65 and 67
IfS=12-22 4 32-42 + ..+

1992 - 2002, then Lhe value of S
is

(1) 19800 (2) 20100

(3} = 20100 (4) - 19900

has the smallest value ?

250,384,765,412
250,383,765,412

{1)

250,385,765,412
250,384,765,412

(2)

250,386,765,412
250,385,765,412

(3)

250.387.765,412
250.386.765.412

(4)

148. The six-digit number SABB 7

A is a multiple of 33 for digits A
and B. Which of the following
could be possible value of A +
B?
(1) 8
(3) 10

2) 9
(4) 14

146. (6 - 443 + 16 - 8J3 is equal

Lo
(1) 1-J3 (2] J3-1
(3) 2(2-+43) (4) 2(2+V3)

147. The product of two 2-digit num-

bers is 2028 and their HCF is
13. The sum of the numbers Is ;

148.

149.

150.

(1) 65 (2) 78

(3) 91 (4) 169

The expression

3 % 5 > B 17 2 19
4 36 144 5184 8100
is equal to

(1} 0.9 (2) 0.95

(3) 0.99 (4) 1.91

Cost of a dlamond varies directly
as the square of its welght. A
diamond broke into four pieces
with their weights in the ratio 1
:2:3: 4. If the loss in the total
value of the diamond was Rs.
70.000, the price of the original
diamorid was

(1) Rs. 1,00,000

(2) Rs. 1.40,000

(3) Rs. 1,50,000

(4) Rs. 1,75.000

Two candles having the same
lengths are such that one burns
oul completely in 3 hours at a
uniform rate and the other in 4
hours. At what time (P.}.) should
both the candles be lighted to-
gether so that at 4 P.M.. the
length of one is twice the length
of the other ?
(1) 1 :24

3 1:36

(2) 1:30
{4} 1 : 42

== ANSWERS

1o Fz ﬁ'l— 3. (4| 40O
| 5] @] 7@ 83
9.3 | 10.(1)] 11.2{ 12 14
13. (1} | 14.(0] 18 (4| 16.(4)
'17.(3 | 18.{2)| 19.(3)| 20.(4)
21.(4) | 22.(4)| 23.(D] 24.(1)
28. (1) | 26. @] 27. 2| 28. (4}
2.1 | 0.9 | 3L @[ 32 )]
| 33.(1) | 34.13)| 35.(2) aa.[u{
| 37. 2| 38.@ | s9.@] 40.())
41. (3) | 42.4)| 43. @[ 44.(1)
45, (3) | 4s. mi 47.(3)| 48.(4)
| 49.(4) | 50.(1)| 51.(41| 52.(2)
; mml 54.(1)| 88.(9)] 86.(3)
87.(3) | 58.{2)| 89.(4)| 60.(2)
61.(4) | 62.(3| 63.(| 64.(
| 6s.(1) | 68.4)| 67.(2)| 68. (1)}
60.(3) | 70.(4)| 71.(2)| 72.(2)|
I 73. (1) | 74. (3| 78.2 ] 76. (1)

77. (3]

e ——

78. (2)

79. (31

80. (2]

81. (2)

82. (4)

83. (2)

84. (1)

85. (2)

86. (1)

87. (3)

| 88.(3

89. (4]

80. {3)

g1. (1)

92- [3]

3. 2)

84. (4)

95. (2)

06. (1)

97. (1)

99. (4}

100. (1)

101. (4}

102. (3)

103. (3)

104, (1}

105. (2)

{1086. (1)

107, (2)

108. (3)

109. (1}

110, (4)

111, {4)

112. (3

[113. (@)

114. (4)

118. (3)

1117, (1) |118. (@)

&

Elﬁ. (1)
118. (2]

120. (4)

121. (1)

122. {3)

123. (1)

124. (2)

125. (2)

126. (2)

127. (4)

128. (2)

131. (1)

132. (3)

‘rfﬂ} (2]

134. (3) | 135. (2)

1
136. (1)

!137 (2) |188.(3) [189

. (2)

140. (3}

141. (2)

144. (4)

145. (2)

142, (1)
148. (2)

; 143. (3)
147. (3)

148. (3)

149. (1) Em (3)

—
—_——
e —
— ]
—

895 = 985;
389 = 839, 675 =765

Descending order of the num-
bers : 985 > 839 = 798 > 765 >
749 > 376

Fifth number from righi = 839

2. (1)

EXPLA ATIONS E

. (1) 479 = 749;

736 = 376
a78 — 798

It is clear from the diagram that
R is in north direction of P.

(3-5) :

40 m

8

n0 n
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